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KAaTapAbIH KMHAKTAJYbIHbIH KAKETTI
IIAPTHIH Olj1eal sKOHEe KOJIAAHAAbI
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OKy Mmakcarhbi:

12.5.1.4 lanamoep skdHe CaJbICThIPY
OeJIriepiHiH KoMeriMeH KaTapablH

"KUHAKTBbIFbIH 3epTTenal



Canvicmolpy oenzinepi

CanpIcThIpy OCNTUIepiH KOJIJaHFaHAa 3€pTTEHTIH KaTapabl alblH aja
"KUHAKTBUJIBIFBI OCJIT1I KaTapMEH CaJIbICThIPAIbI.
CanbICTBIpy OCNITUIEPIH KAPACThIPY KAXKET:
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1) (2) xaTapbIHbIH *KUHAKTATybIHAHAH (1) KaTapbIHBIH KUHAKTAIIYEI

IbIraJblI.

2) (1) KaTapbIHBIH KHHAKTaIMaybIHAH (2) KaTapbIHBIH JKMHAKTAJIMAaYhI
IIBIFa/IBI.



YJikeH MylleJi KaTapAbIH dKHHAKTbUIBIFBIHAH Killli MyLIeJi

KaTapAbIH KNHAKTBUIBITBI IIbIFa/1bI.
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CanbicThIpy Oelnrici OOMbIHIIIA OEPIAreH KaTap *KUHAKTaIabl.
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Oii Ko3ray:
JlamamOep O€JriCIH Kall yakKbITTa KOJIaHy KEPEK?

1) KarapasIH kajmnbsl MyIIECIHIH KYpaMbIHia KaHaal ga o1p
OopexKeIiK caH Oonca, Mpicansl, 2™, 3™, 5™ xoHe T.c.cC.
beiMiHie HeMece alabIMbIHA 00JIYbl MaHBI3IbI EMEC.

2) KarapaplH kajmnbel MylueciHae (pakropuan oosca.
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Tak kak L = 0 < 1, To 3HauuT pag cxoanTca no npusHaky Aanambepa.



3—Tanc1>1pMa. KaTapI[I)I AKNHAKTBIIIBIKKAQ 3epTT6Hi3
ZOO (n+1)!
n=1 (n + 2) - 5™

B B fim
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Tak kak nony4aerca HeonpejeneHHoCTb, TO BbIHECEM 34 ckobKu
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Mocne COKpaweHUa HNCINTENR W 3HaMEHAaTeNAa Ha T UMEEM.
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Tak kak L = oo, To no npusHaky Janambepa pajg pacxozuTcs.

https://youtu.be/PSMQj aHeqgs

(n+2)(n+2) _


https://youtu.be/PSMQj_aHeqs

EXAMPLE 2 Investigate the convergence of the following series.

an + 5 = (2n)! 4y 1p!
(a) E (b) 2 n'ln! (€) E (2,:z)n‘

Solution We apply the Ratio Test to each series.
(a) For the series E:io (27 + 5)/3",
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The series converges absolutely (and thus converges) because p = 2/3 is less than 1. This
does not mean that 2/3 is the sum of the series. In fact,
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(c) If a, = 4"nln'/(2n)], then
A+ D+ D (2a)!
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Because the limit is p = 1, we cannot decide from the Ratio Test whether the series
converges. When we notice that a,.,/a, = 2n + 2)/(2n + 1), we conclude that
@+ is always greater than a, because (2n + 2)/(2n + 1) is always greater than 1.
Therefore, all terms are greater than or equal to a; = 2, and the ath term does not
approach zero as n — ©0. The series diverges. o
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AKynmuix sicymoic. Kamapowl soicunaxkmoiivikka 3epmmenis
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http://pgsksaa07.narod.ru/examples ryad.htm

Kochimia ranceipma. Karapapl >kMHAKTBUIBIKKA 3€pTTEHI3
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